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TRACKSTATES-AT-ECAL

= TrackDataDriver uses TrackUstils.extrapolate TrackUsingFieldMap to create new TrackState@ECal for every GBL Track
= Master extrapolates from TrackState@IP

= New code extrapolates from TrackState@LastHit
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TRACKSTATES-AT-ECAL

= Why such a wide spread in extrapolated y position at ECal (new - master)?

= Consider tanA @LastHit vs @IP
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TRACKSTATES-AT-ECAL
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TRACK-CLUSTER MATCHING

Track-cluster matching
(TrackClusterMatcher, called by
ReconParticleDriver) uses

TrackState@ECal created by
TrackDataDriver

Matching based on old cluster-
track residuals parameterization

Results don’t change with new
code, because matching criterion is
so loose

But, could consider tightening
criterion and re-doing
parameterization

hps-recon » (% src/main/java » 3 org.hps.recon.utils » @, TrackClusterMatcher »
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TRACK-CLUSTER MATCHING

Ecal cluster y - track y @ Ecal - top - matched Ecal clustery - track y @ Ecal - top - matched
_ Entries : 2372 — Entries : 2372
850 Mean : 1.0332 800 Mean : 0.99190
Rms: 3.3498 750+ Rms: 26727
600T
7001
5507
650 T
500
6001
4501 5501
400 5001
450 T
3/0T
4001
300
3507
2501 3004+
200T 250+
2001
1501
150 T
100+
100+
50T 50+
1 } ! ! l_l— ] " ! f | I I I 1 ! : I ' ' |
0 T T T T T T T T T T 1 0 T T T ¥ T T T T T T 1
20 18 -16 -14 12 -10 -8 -6 4 2 0 2 4 6 8 10 12 14 16 18 20 20 18 16 14 12 10 8 12 14 16 18 20




